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B. Com. (Part I) EXAMINATION, 2020
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(Group—III)
Paper First
BUSINESS ENVIRONMENT

[ Maximum Marks : 75
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1.

a8 | T Tl & SfF T B |
Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TPE—1
(UNIT—1)
ARG H AN e @ 8el FRR @ gedr o W@l § ?
WHR A 30 GO & GHEE & foll W IUY R g,
DT YAl DI |
Why the deficits in balance of payment in India is

increasing ? Evaluate the measures taken by the Government

to solve this problem.

P.T.O.
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(Or)
a1 B AN A R A9 § ? GaT Bl AN B T B arel
TEH Bl WL B |

What is meant by demand of money ? Explain the affecting
factors demand of money.

TPR—2
(UNIT—2)

&A1 S A1 § P AR H &EIY Ao $l quigy qul
9T % 3 P I ¥ WHR 7 R He¥ IoW ¢ ?

What are regional imbalances ? Discuss the regional

imbalances in India. What measure are adopted by the
government to overcome this problem ?

G|

(Or)
NNl BTorT @l GRS CIRTU T 30D BRI B FHiem off
I |

Define industrial sickness and examine the causes of
industrial sickness.

TPR—3
(UNIT—3)
sirenfire A, 1001 B T Rl & s FHeT
BIRTY |

Critically examine the main feature of Industrial Policy of
1991.
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(Or)
T & foqdia~r & @ s § 7 3 fd Refoat # o
eferaeen & forg Sfad SEvraT o wahdT §
What is meant by demonetisation of currency ? Under what

condition it may be justified for an economy ?

TP—4

(UNIT—4)

IREd] TqER ST BT SAAIETcHD TRIETT I |

Critically examine the Twelfth Five Year Plan.

G

(Or)
faeelt fafma yewere srffm (@), 2000 & fafet oraemt @
AT BT |

Explain the different provisions of Foreign Exchange

Management Act (FEMA), 2000.
TPE—5
(UNIT—5)
FRIET ol BIY & e gargl| 4Rd S GaT Y Gl
R ¥ TRl T6 o ZaT B ? W DI |

Discuss the objectives of International Monetary Fund. What

benefits India has derived from the monetary fund ? Discuss.

P.T.O.
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(Or)
“fapreiic <@ @ gfe @ g 98 b1 W @ {6 siwcrs
AHAA BT ol H el 3IfeF e 217 R AU T BE U
eHd © 7 afe T8, o @i 2

“It is often said that from the point of view of developing
countries UNCTAD has been more a failure than a success.”

Do you agree ? If not, why ?
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